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GENERAL INSTRUCTIONS IN EXAMINATION HALL 
A. General : 
1. This Question Paper contains 25 questions. Please check before 

starting to attempt. The question paper consists one Section. In 
Section, 4 parts, Physics (1 to 5), Chemistry (6 to 10), Mathematics (11 
to 20) and Mental Ability (21 to 25). 

v- lkekU; % 

1. bl iz'u&i=k esa 25 iz'u gSa] Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA 

bl iz'u&i=k esa ,d [k.M gSA [k.M esa] pkj Hkkx bl izdkj gSa&HkkSfrd 

foKku (1 ls 5), jlk;u foKku (6 ls 10), xf.kr (11 ls 20) rFkk 
ekufld ;kSX;rk (21 ls 25) 

2. Space is provided within question paper for rough work hence no 
additional sheets will be provided. 

2. jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 

vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular phones and 
electronic gadgets in any form are not allowed inside the 
examination hall. 

3. [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa fdlh 

Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective Response 
Sheet (ORS), is provided separately. 

4. mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu }kjk 

tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 
5. Do not Tamper / mutilate the ORS or this booklet. 5. vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 

6. Do not break the seal of the question-paper booklet before 
instructed to do so by the invigilators. 

6. iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk funsZ'k 

ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test & take 
away the test paper with you. 

7. ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 

iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve his/her 
performance in the test, shall be disqualified from STaRT. 

8. ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx 

djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og  

STaRT ds fy, v;ksX; gksxkA 
B.  How to fill Objective Response Sheet (ORS) for filling details 

marking answers: 
9. Use only HB Pencil for filling the ORS. Do not use Gel/Ink/Felt pen 

as it might smudge the ORS. 

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr djus 

ds fy, fuEu izdkj Hkjsa % 

9. vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 

tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 
10. Write your STaRT Student Registration No. in the boxes given at 

the top left corner of your ORS with blue/black ball point pen. Also, 
darken the corresponding bubbles with HB Pencil only. 

10. viuk STaRT fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa dksus esa 

fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds vuqlkj 

uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 
11. If any student does not fill his/her STaRT Student Registration No. 

correctly and properly, then his/her ORS will not be 
checked/evaluated. 

11. ;fn dksbZ fo|kFkhZ viuk STaRT fo|kFkhZ jftLVªs'ku Øekad lgh ,oa 

Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks pSd@ewY;kafdr ugha 

fd;k tk,xkA 
12. Since it is not possible to erase and correct pen filled bubble, you 

are advised to be extremely careful while darken the bubble 
corresponding to your answer. 

12. vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk fd;k 

tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh lrdZrk ls gh 

xksyksa dks xgjk djsaA 
13. Neither try to erase / rub / scratch the option nor make the Cross 

(X) mark on the option once filled. Do not scribble, smudge, cut, 
tear, or wrinkle the ORS. Do not put any stray marks or whitener 
anywhere on the ORS. 

13. ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   

[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] 

xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as final. 

14. ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k 

x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 
C. Question paper format and Marking scheme : 
15. SECTION: For each right answer you will be awarded 4 marks if 

you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (–1) mark will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  

15. [k.M% izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk 

fd;k x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼–1½ vad dkVk 

tk,xkA ;fn fdlh xksys dks xgjk ugha fd;k x;k rks 'kwU; vad fn;k 

tk,xkA 
 

 
Best of Luck 

 ®  
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

PART - I (PHYSICS) Hkkx - I ¼HkkSfrd foKku½ 

Straight Objective Type  
This section contains (1-5) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (1-5) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 

 

1. Two blocks of masses 2 Kg and 3 Kg are placed on a plank. An external force of 10N is acting on 2 Kg 

block and the whole system including the plank is moving vertically up with a constant acceleration  

a0 = 2 m/s2. The normal reaction force between the 3 Kg block and Plank is : (g = 10 m/s2)  

 2 Kg rFkk 3 Kg nzO;eku ds nks CykWd ,d r[rs ij j[ks gq, gSA  2 Kg nzO;eku ds CykWd ij ,d ckg~; cy 10N 

vkjksfir gS rFkk lEiw.kZ fudk; r[rs ds lkFk Å/okZ/kj Åij dh vksj fu;r Roj.k a0 = 2 m/s2 ls xfr'khy gSA 3 Kg 

nzO;eku ds CykWd rFkk r[rs ds e/; vfHkyEc izfrfØ;k cy gksxk : (g = 10 m/s2)  

 

2 Kg 

3 Kg 

Plank (r[rk)

10 N 

a0

 
 

 (A) 34 N  (B) 64 N  (C) 52 N  (D) 70 N 

 
2. Power of the only force acting on a particle of mass m = 1 kg moving in straight line depends on its 

velocity as P = v2 where v is in m/s and P is in watt. If initial velocity of the particle is 1 m/s, then the 

displacement of the particle in n2 seconds will be : 

 ljy js[kk esa xfr dj jgs m = 1 kg nzO;eku ds d.k ij dk;Zjr dsoy ,d cy dh 'kfDr blds osx ij P = v2  ds 

vuqlkj fuHkZj djrh gS tgka v, m/s esa gS rFkk P okWV esa gS A ;fn d.k dk izkjfEHkd osx 1 m/s gSA rc n2 lsd.M esa 

d.k dk foLFkkiu gSA     

 (A) (n2 – 1)m  (B) (n2)2 m  (C) 1 m   (D) 2 m 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

 
3. An elastic ball P strikes a moving elevator with a velocity V perpendicular to elevator surface. If the 

elevator has a constant upward velocity V, then the maximum height attained by the ball after the first 
collision and before the second collision measured from the position of first collision is : (g is vertically 
downwards)   

 V osx ls xfr'khy ,d izR;kLFk xsan P] xfr'khy fy¶V dh lrg ls yEcor~ Vdjkrh gSA ;fn fy¶V Åij dh vksj 

fu;r osx V ls xfr'khy gks rks izFke VDdj dh fLFkfr ds lkis{k] izFke VDdj ds i'pkr~ rFkk f}rh; VDdj ds igys 

xsan }kjk izkIr vf/kdre Å¡pkbZ gksxh & (g Å/okZ/kj uhps dh rjQ gSA) 
 

Elevator V 

V 
P 

¼fy¶V½ 

  

 (A) 
23V

2g
   (B) 

22V
g

   (C) 
29V

2g
   (D) 

2V
2g

 

 
4. Two particles tied to different strings are whirled in a horizontal circle as shown in figure. The ratio of 

lengths 1

2

L
L

 of the strings so that they complete their circular path with equal time period is: 

 (A) 3
2

   (B) 2
3

   (C) 1   (D) None of these  

 
 fHkUu&fHkUu jLlh ls cU/ks nks d.kksa dks fp=kkuqlkj {kSfrt o`Ùkkdkj iFk esa ?kqek;k tkrk gSA jfLl;ksa dh yEckbZ dk 

vuqikr 1

2

L
L

 D;k gS ftlls os viuk o`Ùkh; iFk leku le; vUrjky esa iwjk djrs gS & 

 (A) 3
2

   (B) 2
3

   (C) 1   (D) bueas ls dksbZ ughA 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

5. A small block of mass m is taken slowly up a fixed hemisphere from P to Q and then slowly down along 
its surface from Q to S by force F, which at each point of the surface, is tangential to the surface. If the 
coefficient of friction is , then the work performed by the force F in taking the block from P  to S along 
the hemispherical surface of radius R is :  

 m nzO;eku dk ,d CykWd /khjs&/khjs ,d tMor v/kZ xksys ij fcUnq P ls Q rd] fQj Q ls S rd] F cy vkjksfir 

djds lrg ds vuqfn'k pykdj ys tk;k tkrk gSA ;g cy  F bl iFk ds izR;sd fcUnw ds Li'kZ js[kh; fn'kk esa gSA 

;fn ?k"kZ.k xq.kkad gks rks CykWd dks v)Zxksys ¼f=kT;k R½ dh lrg ds vuqfn'k P ls S rd ys tkusa esa cy F }kjk 
fd;k x;k dk;Z Kkr dhft,A 

 
 
 (A) 2mgR  (B) mgR  (C) mgR   (D) mgR 
  

 

PART - II (CHEMISTRY) Hkkx - II ¼jlk;u foKku½ 

Straight Objective Type  
This section contains (6-10) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (6-10) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 
 

6. What is the molality of a solution made by dissolving 100 g of bromothymol blue (C27H28Br2O5S) in  
1.00 L of ethanol on a winter’s day at 10ºC? The density of ethanol at this temperature is  
0.7979 kg L–1. 
10ºC ij lnhZ ds fnuksa esa 1.00 L ,FksukWy esa 100 xzke czkseksFkkbeksy Cyw (C27H28Br2O5S) dks ?kksyus ls cus foy;u 

dh eksyyrk D;k gS \ bl rki ij ,FksukWy dk ?kuRo 0.7979 kg L–1 gSA 

 (A) 0.100 mol kg–1  (B) 0.128 mol kg–1 (C) 0.160 mol kg–1 (D) 0.201 mol kg–1 
 
7. The pH of a 0.02 M solution of KOH at 25ºC is : 

 KOH, 25ºC ds 0.02 M foy;u dh pH 25ºC ij gS &  

 (A) 2   (B) 3   (C) 11   (D) 12 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

8. 0.5755 g of a compound, containing sulfur and fluorine only, has a volume of 255.0 mL at 288.0 K and 

50.01 kPa. What is the molecular formula of this compound ?  

,d 0.5755 xzke ;kSfxd esa 288.0 K rFkk 50.01 kPa ij dsoy lYQj rFkk ¶yksjhu gS] budk vk;ru  

255.0 mL gSA bl ;kSfxd dk v.kqlw=k D;k gS \ 

 (A) S2F2  (B)  SF2   (C) SF4   (D) SF6 

 

9. In the given compound which functional group is absent ? 

  
 (A) Ketone  (B) Ether  (C) Amide  (D) Ester 

 fn;s x;s ;kSfxd esa fuEu esa ls dkSulk fØ;kRed lewg vuqifLFkr gS \ 

 
 (A) dhVksu  (B) bZFkj   (C) ,ekbM  (D) ,LVj 

 

10. The IUPAC name of the compound C=C
CH CH2 3

CH3

Cl
H C3

  is : 

 (A) trans-2-Chloro-3-methyl-2-pentene  (B) cis-2-Chloro-3-methyl-2-pentene 

 (C) trans-3-Methyl-4-chloro-3-pentene  (D) cis-3-Methyl-4-chloro-3-pentene 

 fn;s x;s ;kSfxd C=C
CH CH2 3

CH3

Cl
H C3

  dk lgh IUPAC uke gS & 

 (A) Vªkal-2-Dyksjks-3-esfFky-2-isUVhu   (B) fll-2-Dyksjks-3-esfFky-2-isUVhu 

 (C) Vªkal-3-esfFky-4-Dyksjks-3-isUVhu   (D) fll -3-esfFky-4-Dyksjks-3-isUVhu 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

PART - III (MATHEMATICS) Hkkx - III ¼xf.kr½  

 

Straight Objective Type  
This section contains (11-20) single choice questions. Each question has 4 choices (A), (B), (C) and (D) out of 

which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (11-20) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 

 

 

11. Four different electronic devices make a beep after every 30 minutes, 1 hr, 1
1
2

hr and 1 hr. 45 min. 

respectively. All the devices beeped together at 12 noon. They will again beep together at  

 (A) 12 midnight   (B) 3 am  (C) 6 am   (D) 9 am 

 pkj fofHkUu bysDVªkWfud ;a=k izR;sd Øe'k% 30 feuV] 1 ?k.Vs, 1
1
2

?k.Vs vkSj 1 ?k.Vs 45 feuV ij ctrs gSA lHkh ;a=k 

,d lkFk nksigj 12 cts ctrs gS rc os iqu% ,d lkFk dc ctsxsa&  

 (A) 12 e/;jk=kh  (B) 3 am  (C) 6 am   (D) 9 am 

 

12. What is the smallest number by which 3600 be divided to make it a perfect cube?     
 3600 dks fdl lcls NksVh la[;k ls foHkkftr djs fd ;g iw.kZ?ku cu tk,A 

 (A) 9   (B) 50   (C) 300   (D) 450  
 

13. It is given that cos x = cosy and sinx = – sin y the value of sin 1994x + sin 1994y is equal to   

 ;g fn;k x;k gS fd cos x = cosy vkSj sinx = – sin y rc sin 1994x + sin 1994y dk eku cjkcj gS& 

 (A) –1    (B) 1   (C) 0   (D) 2  

 

14. If x2 + x = 1 – y2, (where x > 0, y > 0), the maximum value of x y  is   

 ;fn x2 + x = 1 – y2, (tgk¡ x > 0, y > 0), rc x y  dk vf/kdre eku gS& 

 (A) 4   (B) 2 2   (C) 
2

1   (D) 
22

1  
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

15. If it is known that 







1r

2

2 8)1r2(
1

. then 2
r 1

1
r




  is equal to 

 ;fn ;g fn;k x;k gS 







1r

2

2 8)1r2(
1

. rc 2
r 1

1
r




  dk eku gS&  

 (A) 
24

2    (B) 
3

2    (C) 
6

2    (D) 
4

2   

 
16. If u, v, w are real distinct number such that u3 + v3 + w3 = 3uvw, then the quadratic equation  

ux2 + vx + w = 0 has         

 (A) real roots     (B) roots lying on either side of unity 

 (C) both roots are positive   (D) non–real roots 

 ;fn u, v, w fofHkUu okLrfod la[;k bl izdkj gS fd u3 + v3 + w3 = 3uvw rc f}?kkr lehdj.k  

ux2 + vx + w = 0 ds 

 (A) okLrfod ewy gSA    (B) ,d ewy bdkbZ ls cM+k rFkk ,d ewy bdkbZ ls NksVk  

 (C) nksuksa ewy /kukRed gSA    (D) vokLrfod ewy gSA 

 

17. As shown in the figure, three circle which have the same radius r have centres at (0, 0), (1, 1) and  

(2, 1). If they have a common tangent line, as shown, then the value of 10 5 r is   

fp=k esa n'kkZ, vuqlkj rhu o`Ùk] tks leku f=kT;k r ds gS rFkk dsUnz (0, 0), (1, 1) rFkk (2, 1) gSA ;fn ;s o`Ùk fp=k esa 

n'kkZ, vuqlkj ,d mHk;fu"B Li'kZ js[kk j[krs gSA rc 10 5 r dk eku gS& 

 

O 
r 

c 1 2 
x 

C2 

r 
r C1 

y 

 
 (A) 2   (B) 6   (C) 3   (D) 5 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

18. Let f(x) = logbx and let g(x) = x2 – 4x + 4. Given that f(g(x)) = g(f(x)) = 0 has exactly one solution such 
that b > 1, compute b         

 ekuk f(x) = logbx vkSj ekuk g(x) = x2 – 4x + 4. fn;k x;k gS fd f(g(x)) = g(f(x)) = 0 Bhd ,d gy gS tcfd  

b > 1 rc b dks Kkr dhft,& 

 (A) 4   (B) 3   (C) 2    (D) 5  
 
19. If a, b, c are the numbers such that their H.C.F. is 20 and L.C.M. is 20,000. Then number of ordered 

triplet (a, b, c) is           
 ;fn a, b, c la[;k,a bl izdkj gS fd mudk e-l-i- 20 vkSj y-l-i- 20,000 gSA rc Øfer f=kd (a, b, c) dh la[;k 

gS& 
 (A) 46    (B) 33    (C) 372   (D) 352  
 
20. The  base  of  a triangle is of length ' b ' and the altitude is of length 'h'. A rectangle of height ' x '  is 

inscribed in the triangle with the base of the rectangle in the base of the triangle. The area of the 
rectangle is           

 f=kHkqt ds vk/kkj dh yEckbZ 'b' gS rFkk 'kh"kZyEc dh yEckbZ 'h' gSA 'x' Å¡pkbZ dk ,d vk;r] f=kHkqt ds vUrxZr gS] 

ftlesa f=kHkqt ds vk/kkj esa  vk;r dk vk/kkj gSA vk;r dk {ks=kQy gS&  

 (A) bx
h

 (h  x)  (B) h x
b

(h  x)  (C)  bx
h

(h  2 x)  (D)  x (h  x) 

 
PART - IV (MENTAL ABILITY) Hkkx - IV ¼ekufld ;ksX;rk½ 

Straight Objective Type  
This section contains (21-25) single choice questions. Each question has choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (21-25) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 

 

Direction (21 to 23) : Find the missing term ?  

funsZ'k (21 ls 23) % fuEu Js.kh esa yqIr in D;k gksxk \ 

21. 4, 6, 9, 14, 21, ? 

 (A) 30   (B) 29   (C) 31   (D) 33 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

22. IRC, QZK, YHS, GPA, ? 

 (A) JYR   (B) OXI   (C) XPJ   (D) JVH 

 

23.  

7 5 6 

4 6 5 

2 12 ? 

 

 (A) 6   (B) 8   (C) 7   (D) 10 

 

24. If RPGYLEJC is coded as QQFZKFID, then QOSYPC would be 

 ;fn RPGYLEJC dks QQFZKFID ls dksM+ fd;k tk;s rks QOSYPC dks fdlls dksM+ fd;k tk;sxk& 

 (A) PPIASF  (B) PPVZSF  (C) PRTBQF  (D) PPRZOD 

Directions : (25)  Read the following information and answer the questions given below it. 

 Five players are standing in a cricle facing the centre. A is between B and C. D is to the right of B. 

funsZ'k : (25) fuEufyf[kr lwpuk ds vk/kkj ij iwNs x;s iz'uksa ds mÙkj nhft;sA 

 ik¡p f[kykM+h fdlh xksys esa dsUnz dh vkSj eq¡g djds [kMs+a gSA A] C o D ds e/; esa gSA D] B ds nk;ha vksj gSA 

25. Who is to the left of C if E is the fifth player ? 

 ;fn ik¡poka f[kykM+h E gS rks C ds ck;sa dkSu cSBk gS ? 

 (A) D   (B) A   (C) B   (D) E  
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

 

ANSWER KEY  Sample Test Paper  Stream : Science-Maths 
  
1. (D) 9. (C) 3. (C) 4. (B) 5. (A) 6. (D) 7. (D)  

8. (C) 9. (B) 10. (B) 11. (D) 12. (D) 13. (C) 14. (D) 

15. (C) 16. (A) 17. (D) 18. (D) 19. (C) 20. (A) 21. (C) 

22. (B) 23. (C) 24. (D) 25. (D) 

 

 

 



 

    

 


